GUPTA CLASSES

GUPTA

CLASSES

www.guptaclasses.com

2 A Premier Institute For SSC/Bank/MCA/MBA/CDS/NDA Entrance

SSC Practice Set-7

The product of two positive integers is 2048 and
one of them is twice the other. Then the small of
the number is

& g YUTiehl o1 TUHTE 2048 & 3 378 @ w&
e gEdl e A S ¥ @ wargd o I @ s
T - 2

(a) 32 (b) 64 (c) 16 (d) 1024

A and B can do a work in 8 days, B and C can do
the same work in 12 days. A,B and C together
can finish it in 6 days. A and C together will do it
in:

A 3R B faerat fortlt @ &1 8 e o g1 &°T ke €
B 31X C 3% &M @i 12 T3 § & "@&hd 81 A, B 3R C
Tt 3Tt & &t 6 TaT ®Ta & @ @« A 3R C
Tty 30 & &t foraq e & &2

(a) 4 days (b) 6 days (c) 8days (d) 12 days
The diagonal of a cuboid of length 5 cm, width 4
cm and height 3 cm is

5 |7 @iaTg 4 U AIeTE i 3 WA HETE & TCHAS HI
fereut femermm gIvmr?

(@)5v2 ecm (b)2/5ecm  (¢)12cem  (d) 10 em

An article marked at Rs. 540 is sold at Rs. 496.80
in an off-season offer . Then the rate of descount
offered (in percent) is

Rs. 540 Sifhd o &t hig o Ak HISH AHT A &
496.80 ® St STt § @t & T Ge F X fwa (vl
o) grit?

(a) 7 (b) 7.5 (c) 8 (d) 10

Three numbers are in the ratio 5 : 7 : 12, if the
sum of the first and the third is greater than the
second by 50. Then sum of three numbers is

i FEATE 5 : 7: 12 o 31U | §1 Al AW § ugelt a9
e FEs @1 AT TEG e | 50 Ny €, @ d=
GEAT3N T AN feRaT grm?

(a) 125 (b) 120 (c)95 (d) 85

The average of 10 children is 9 years 9 months.
The average of 9 children is 8 years 11 months.
What is the age of the tenth child?

10 el St 3iEd MY 9 94 9 WIE §1 9 S i IiEd
g 8 o 11 WiE §1 THA a=a @i My TRt &2

(a) 17 years 3 months (b) 18 years 4 months

(c) 18 years 3 months (d) 18 years 3 months

7.

10.

11.

12.

Gopi goes from place A to B to buy an article
costing 15% less B. although he spends Rs. 150
on travelling, still he gains Rs. 150 compared to
buying it at A. his profit percent is :

Tt feRet atg @ WHIEA & Tt W™ A ¥ ®H B 7@
ST § iR ¥ B UT 98 @%] 15% ®H Tod 0T faerdt
&1 TEfu M- ¥ Su ® 150 @ € 99 ¢ R it
T A ¥ 3@ @{EA &t go 1 ¥ 3@ & 150 T o1 gran
?\ 3SR Tnw ufava &4 82

(a)4.5 (b) 6 () 7.5 (d)8

If the income of Mohan is 150% higher than
Mahesh, then by what percent the income of
Mahesh is less than Mohan ?

gfT Uigd &l 3T WY | 150% Aferah g @ Fargd ok
HRYT @l 3T Higd § fhaw ufav &4 §7?

(a) 40% (b) 50% (c) 60% (d) 45%

The length of a train and that of a platform are
equal. If with a speed of 90 km/hr the train
crosses the platform in one minute, then the
length of the train (in meters) is

T& 2 iR Weh™ @i &g st 81 afg 29 90 foet
/€T @t T | wiewn @i 1 fie ¥ o S @ @ 29 &t
&g (HieX #) fhat 2

(a) 500 (b) 600 (c) 750 (d) 900

The simple interest on a certain _ rate after 3
years interest compound annually, is

faret g ux 5% UR 2 T w1 WHRT A F 1600 B
qifteh &S UT SET & WX 3 96 & WIE Wehgies SN
TehamT gIm?

(a) Rs 2520 (b) Rs. 2522 (c) Rs. 2555(d) Rs. 2535

Ifx+l:«/§,thenthevalueofx3+L3isequal
x x

to

zrl%;x+— V8 @t &3 +—a'7f1=l17-l'5;111T7

(a) 1 (b) 33 (c) 0 (d)3

Ifa+2—1,Thenarevalueofa3+b3 is equal to
a

?:ﬁ-:_+__1?ﬁa + b3 &1 Twm UA F EEI?
a

(a)O (b)1

(c) 2 (d)3
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13.

14.

15.

16.

17.

18.

19.

20.

21.

P .9
qQ p

If p2 + q2 ="T7pq, Then the value of is equal

to
afz p2 + q2 = Tpg @ L + 4 &1 am w=w Bm?
a p

(a)9 (b) 5 ()7 (d)3

If x= 99, then the value of 2x2 +8x+3)
IfEg x= 99 &, & 2(x2 + 3x + 3) T WA FAT FM?

(a) 1000001 (b) 1000000 (c) 999999 (d) 9999999
The centroid of a triangle AABC is G. If the area
of AABC = 72 sq. units , then the area of ABGC is
A ABC &1 &5& G ®1 A5 AABC = 72 &t gfe & @t
ABGC &1 &9%e fehaT grm?

(a) 16 sq units (b) 24 sq units

(c) 36 sq units (d) 48 sq units

In case of an acute angled triangle,
orthocentre lies

TARNT BT ¥ SHAT ciashs Hel erm?

(a) inside the triangle

its

(b) outside the triangle

(c) on the triangle

(d) on one of the vertex of the triangle 67.

If APQR and ALMN are similar and 3PQ = LM =9

cm, then QR is equal to :

Ifg APQR 3 ALMN ®9H £ 3R 3PQ = LM =9 9t

&, df QR TR sTET grm?

(a)12cm  (b) 6 cm ()9 cm (d) 3 cm

AB is a chord of a circle with O as centre C is a

point on the circle such that . OCL AB and OC

intersects AB at P. If PC= 2 em and AB= 6 cm

then the diameter of the circle is

AB, O &= aTet g &t Sl 81 g9 W fag C 39 7o

f& 0C_L AB 2ir fi=an OC Sfen AB &t P W @redt §1

;‘FGIPC: 2 U 3 AB = 6 U & at g9 1 S fhaT
?

(a) 6 cm (b) 6.5 cm ()13 cm (d)12 cm

If x2 = sin? 30° + 4cot? 45 - sec? 60°, then the

value of x(x > 0) is

e x2 =sin?30° +4cot? 45-sec2 60° T @
x(x > 0) ST W T 872
@-1 W1 (©0 @ 1
2 2
If 7sin20+3cos20=4 then the value of

secb + coschis
IfE 7sin? 0+ 3cos2 0 = 4 B d sech + cosch H T

grm?
@2-2 ®m2+2 (-2 () noneofthese
NE) V3 NE)

An observer on the top of a mountain, 500 m
above the sea level, observes the angles of
depression of the two boats in his same palce of

22.

23.

24.

25.

vision to be 45° and 30°respectively. Then the
distance the boats, if the boats are on the same
side of the mountain, is

T& I8 9= ad § 500 T, HUT TS UgIE! el & vid
A I T gfE &3 A & rereit & raAfd HIvT HH:
45° 3T 30° I@ar 1 AR A P wETS = UH
urgE A ® @ 3% dtw & g fwat gnit

(a)456m (b) 584 m (¢)366m (d) 699 m

Study the bar diagram and answer the following
questions.

TR TEfad &1 NeEa @it MR frafafaa yvt &

W st
100
90
80 1 —
70
60 ]
50
40
30
20

10

0

English ~ Maths Physics Chemistry Biology

Average marks obtained in Physics for two
terms is

Tl gl | siifae v | TR wfdvma 3t we gu?
(a) 80.5 (b) 82.5 (725  (d)83.5

Difference of marks obtained in both the terms
by students is maximum in

B gRT S Wl ¥ AT Akl T I SAfEehad fhe
fawg o 7

(a) English
(c) Biology

(b) Physics

(d) Mathematics

What is the percentage of mark obtained in
Chemistry for both the terms?

I Tl | T fage  wiaiek! @1 afar ferar 82
(a) 76.5 (b) 56.7 (c) 75.6 (d) 67.5

The ratio of the average of the marks obtained
in Biology for two. terms to the average of the
marks obtained in English and Mathematics for
first term only is

Tl WAl & 9 faie ® 9T 3id i 9T shdel qed
W I 3T wfure W wre 3fra 3wl T AU F=
#?

(a) 43 : 92

(b)39:42 (¢)29:34 (d)23:94
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4. 3ifwT g (MP) = 540
fasha 94 (SP) = 496.80
e = Hfehd Go-fespa qo
= 540 - 49680
= 4320

9y 9m 9y 9m

v Vo [
qstond oth 10th

11 3irgd &1 = 8Y 11M
199 & g H 3T
=9 % (9y9M - 8y11m)

— ANSWER KEY
1. (a) 2. (c) 3. (@) 4. (c) 5. (b) 6. (a) 7. (c) 8. (c) 9. (c) 10. (b)
11. (c) 12. (@)  13. () 14. () 15. (b) 16. (a) 17. (d) 18. (b) 19. (d)  20. (b)
21. () 22. (b)  23. (b) 24. (d) 25. (c)
1. First Method : . i B2% = falial x 100%
T Teel T8 = ! A
EO G = 2 | _ 4320 1009
X X 2 = 2048 : 4§g0
%2 = 9248 i = =4 % 100
x2 =1024 i y &
x =32 i Nl
aﬁzﬁw&n =x =32 | 5. Ugell WA : qEA GEA : gEd e
I T = 2¢ = 64 ! B i Tx o 12
2. A+B BiCA+B+C ooqm oy | ol el gt + 50
91T (time) 8 12 6 ! Bx +12x =T7x + 50
. | 10x =50
&THT (efficiency) 3 2 4 i ‘=5
A+ B +C ! SEemd = 4 ! - : )
4B " " 3 : 1 SEsT 1AM = 24x
—.W i =24x5
! =120
A+B+C — 4 !
A+B—2 ' B. 10 STEl @i SiEd Mg = 9 T, 9 WiE
A2 i 10 =2l 1 A 3G = 10 x 9 o4 9 HIg
A+B+C —> 4 ! =90 1 90 W&
l l i _ 90 o 20 o
9 1 ! 12
__ B-1 i =90 9% +7 99 6 AlE
g : =97 =4 6 AR
A +C) B form T g = 2 e ! .
(4+C) e : 9 el St STTd 3T = 84 11 918
_ 24 ; 9 S=dl Tl FHel 3G = 9 x (8 Y 11 T1B)
(2+1) ; = 72 99 99
! i 99
3. I=5cm i _72?>|'Gf+ﬁ?>|'ﬁf
b= 4cm ; =72 4 +8 94 +3 W
h=3cm ; =80 I¥ 3 U
wwhel 1 fohuf i 10 3 9/=% 1 3T = 97 4 6 H1E
=VIZ 452+ 42 ; = -80 9% 3 WE
=52 + 42 + 32 | =17 74 3 W
- J25+16+9 i Second Method :
_ /50 i 10 it it 3meg = 9y 9 m
famt = 542 FHto i

=9 x 10 months
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=90 AE
10 1 SId 311G = 9y 9m + 90 W8

=9y9m+% EL]
12

=9 9Y 9 UE +7 I § WE

=16 HE 15 HE
=17 a4 3 UI®
7. 150-3
20
A B
20 17
N
diff = 3 unit
FAATHREE =150 Fo
Y = 150 ®o
3 = 300 To
Sunit — 300
lunit — 100
20unit — 2000
(P)d¥ =150®.
EREC (CP) = 2000 ®o
% = £ x100=159 x100
cp 2000
=75%
8. 1500 -190_3
100 2
FLT B 3T FHIgel B 31T
2 : 5
-3
-3
? x 100 =60%

9. 297 &t Ao = WewMH &t o =/
2O T = = 90 fomt. ufq =

P = Rs.16000
_ 90 x1000

60
=l = 1500 Hto, fie
[ = =06l x 97T
21 =1500 x1
1l =750 metre

10. y@gA =P
Ur) =5%
T () = 299

To =S (ST) = Pxrxt
100

Px5x2
100

P = Rs.16000

5% e
20

1600 =

(1) IEELED)

20

20
20

8000

A
21

21
21

9261
1261 unit = Tshdls O
8000unit — 16000 &.
lunit — 2%.
1261 unit — 2522 %.

Second Method :
HA HAET (P) = 100unit

S Ho = 100, dsl "o &A1
=rxt
=5x2=10unit

10 unit — 1600

100 unit —16000 &. = AT (P)

5%:i
20

16000

1/20 1/20
1/20
1/20 1/20

1/20
1/20

sho TS = 2522%.

11. First Method :

x+l=\/§
x
x3+i3—?
x
x+l=3
x
T W
x3+i3+3x 1(x+1 = (/3)3
x X X |
x3+i3+3x.1=3«/§
x x
x3+i320
x
x3+i3=0
x
Second Method :
SEI x+1:1:>x3:—1
x
SEH x+l:—1:>x3:1
x
SER x+l:x/§:>x6:—
x
R
x3+i3:?
x
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x6+1:2:0

x3 x3
12. ¢ 2+2:1
a

a®+0% =2
g+é:1
b a

a?+b? -1
ab

a?+ b2 -1
ab

a?+b2% =ab
a?+b%2-ab=0
a® +6% =(a+b)a®+b%-ab)
=(a+bd) (0) =

()

13. p2+q% =7pq

QT QT

14. I
x =99
2x2+8x+3) =2
Al SSC ¥ fRUTTOptions F SR T T8 T Terd &
x(x2+3x+3)—>'€l%'wﬁ'—ﬂ€ﬁ%11|
x(x2 +3x +3)
:x3 +3x2 + 3x
=x3 432 +3x+1-1
(x+13 -
=©99+13 -
=(100)3 -
=1000000 - 1 = 999999
(a+ 0?3 =a®+b> +3ab3b+ 3ab>

gl a=x
b=1
1S. A
G—)%IW_CB
(centroid)
. £ 1T\ 3

FSd — AR (Medians) &1 &M fag
WAaﬁa‘r—rw it F faefs e 2

AAGB =AAGC=ABGC = 24cm

ABGC =38 -T2 _ o4 em?
3 3

16. ARG A § o178 &H5 = A & AW
FHAIUT = SATHR 1 heH forg

Tidl o

ARG A H o g = A & ol

| AL

R M

3PQ = LM
PQ _
M
QR

9
QR =3cm

COl = QO =

AB
OC1 AB(given)OP 1. AB
BH S 21 99 % g, § Sfran W = T o g Siell
& e AT F fafea s €
AP = PB ="+ AB 6 =3 cm
2 2
Given —
PC =2cm
cut
OP = xcm
OC =0OP+ PC
OC =(x+2cm
OC = 0OA = g1 =t &=
=(x+2cm
0

g3
*’( X

A 3 P
(x+22 =2 +3)?2
x2+4+4x =x2+9
4 =5
ng,qaaﬁﬁw

=(x+2 cm
5 13
=—+2-—ocm
4
Y = 2% 13 Ecm
4 2
=2x 13 Ecm
4 2

=6.5cm
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19. x2 = sin? 30° + 4cot? 45° — sec? 60° i tan30 = 48
1\2 ' BD
x2 =(- +4(D)? - (22 ; 1 _ 500
12 ‘ | J3 BD
sin30° = 5 | BD = 500+/3
cot45 =1 i S A A
1 i = DC = BD_BC
11 ! = 500~/3 - 500
secb0” = 75 2 i - 500(43-1)
2-1,4 4 ~ 500(173 - 1)
4 : = 500 x 073
gdl | - 365 14,
2 i 366
20. 7sin20+ 3 cos? 6 - 4 E Second Method : .
secB + cosech =? i
7sin?0+3cos? 0 = 4 !
.2 ) 2 ! 500 afto
3sin“B+4sin“0+3cos“6=4 :
4sin20+3sin20+3cos?0=4 i D 30° = 45° B
45sin?0+ 3(sin? 0 + cos?0) = 4 !
.9 : AABC—
‘482111 9+?;(1) =4 : A ) e
sin“ B8+ cos“0) =1 i i l l
4sin?0=4-3 ! o | 457 a5 |weem
sinZ@ = l i l l
4 | AN45° 90 500 500
1 ! c &
sin® = 5 sin30° =6 = 30" | A 60° 30°
- sec21’> 0+ cos ec13 0 i k 500 500V3 500 3fto
cos30° I $in30° i C30° B BD AB
1 | DC = = F 58
B 2 ; =BD-BC
(7] ; = 5003 — 500
A | ; = 500(+3 - 1)
=(ﬁ+2] | = 500 x (1732~ 1)
! = 500 x 0.7
21. A — 365 o = 366 o
| 22, afma I
i =100
i Physics (90ifaes) ¥ 1% team ¥ 37 = 90
; ond__ — 175
i total= 165
First Method : i 165 _ s95%
AACB ! 200
tan45 = % | 23. English ¥ term &1 <X = 8070 = 10
500 i T (Maths) ® SHT team HISTR
1=—25 i =100 - 80 = 20
BC = 500 o i A (Physics) B THI term 1 3R
Second Method : i =90-75=15
AABD i A (Chemistry) ¥ AT term T 3TN
! =70-65=5
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Sita fas (Biology) ¥ Tl term &1 3T
=85-60=25
. SfeRad 3= Biology H 2

24. Chemistry (T@TaR) ®
IS term ® 3% = 70
2nd 65
total 135
135 x 100 =67.5%
200

25. Sfig fas= (Biology) ®
ISt term (¥ 9T 3% = 85
2" torm B @ ik = 60

I = 145

g = 145
2
3ST (English) % (First term) ¥ 94 31 = 70
Tfrd (Math) % (First Term) & I« 37 = 100

Total (IFT) = 170

Average (3i@d) = %

145 170

2 2

145 : 170
29 : 34
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